
1) 46/9 ÷ 21/4

Answer: ____________

2) Round 9.067126 to the nearest 1000

Answer: ____________

3) Convert the following mixed number 
55/2 to an improper fraction.

Answer: ____________

4) A number is chosen at random from 1 
to 25. Find the probability of selecting 
number less than 7.

Answer: ____________

5) Increase 50 by 22%

Answer: ____________

6) 6/11 x 19/11

Answer: ____________

7) Solve by factorising 
q2 + 8q + 7 = 0

Answer: ____________

8) Solve by factorising 
q2 + 8q + 7 = 0

Answer: ____________

9) q6 / q18

q5

Answer: ____________

10) What would you multiply by to 
decrease an amount by 63%?

Answer: ____________

11) What would you multiply by to 
decrease an amount by 63%?

Answer: ____________

12) Decrease 50 by 20%

Answer: ____________

13) (-130) ÷ 13

Answer: ____________

14) (q12)3

Answer: ____________

15) Find area of 
rectangle having 
sides a = 97 in 
and b = 71 in

Answer: ____________
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16) Increase 30 by 20%

Answer: ____________

17) Increase 50 by 68%

Answer: ____________

18) 19 - (-1)

Answer: ____________

19) 911 / 94

912

Answer: ____________

20) 911 / 94

912

Answer: ____________

Total: ___ / 20
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Answers:

1) 22/27 2) 9.067 3) 15/2 4) 6/25 5) 61 6) 114/121 7) q = -1 or -7

8) q = -1 or -7 9) q19 10) 0.37 11) 0.37 12) 40 13) -10 14) q36

15) 6887in 16) 36 17) 84 18) 20 19) 93 20) 93
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